Chapter 13    Reflection Quiz                    Name ______________________________________
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1.
A ray of light is incident on a reflecting surface as shown in the diagram. How large is the angle of reflection?


a.  150o

b. 20o 
c.  90o
d.  60o  
e.  30o
2.
An incident light ray strikes a plane mirror at an angle of 45o.  The angle between the incident and reflected light rays is:


a.  22.5o 
b.  45o 
c. 67.5o 
d. 90o 
e. 135o
3.
An incident ray of light is initially normal to the surface of a plane mirror. The mirror is rotated until the angle between the incident and reflected rays is 30o.  The mirror has been rotated through an angle of:


a.   7.5o 

b.  15o 

c.   30o 

d.   45o 

e.   60o
4.
An object 12 cm tall in placed 4 meters directly in front of a vertical plane mirror.  The image is:


a.   on the surface of the mirror 
b.   4 m directly in front of mirror


c.   directly above the mirror        
d.   directly below the mirror


e.   4 m directly behind the mirror

5.
An object 12 cm tall is placed 4 m in front of a vertical plane mirror. What is the distance from the object to the image?


a.   2 m     
b.  4 m    
c.   6 m     
d.   8 m     
e.   16  m

6. and 7. X and Y are each 2.0 m tall.  X stands 4.0 m from a vertical plane mirror, and Y stands slightly to one side of X and 8.0 m from the same mirror.


6.
What is the approximate distance between X's image and Y's image?



a.   4.0 m 
b.   8.O m 
c.  12 m 

d.  16 m 
e.   Not enough information to tell


7.
The size of X's image compared with Y's image is:



a.
4 times greater 
b. 2 times greater
 c. same size 
d. half as great
e.
one quarter as great

8.
 An object 12 cm tall is placed 4 m in front of a vertical plane mirror. The image is:


a.   real, inverted and smaller 
b.   real, erect and same size
c.   virtual, erect, smaller 


d.   virtual, erect and the same size
e.   virtual, erect and larger

9.
An object 14 cm tall is placed 4.0 m in front of a vertical plane mirror which has a height of 24 cm.  The height of the image is:


a.   7.0 cm    
b.  14 cm   
c.   21 cm   
d.   28 cm   
e.   4.0 m
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10.
Consider the following diagram of a boy looking at his image in mirror from position I. Assume that the mirror has unlimited width. What is the minimum length and position of the mirror required so that the boy can see his complete image?


a.   PR    b.   PS    c.  RT    d.   SU    e.   PU

11.
If the boy moves back to position II, what is the minimum length and position of the mirror required so that he can see his complete image?


a.   PR    b.   PS    c.   PT    d.   PU    e.   RT

12.
When reflected light is diffused,


a.
the angle of incidence does not equal the angle of reflection 
b. most reflected rays are not parallel


c.
regular reflection of any of the rays is impossible
d.
the reflectance is always very low
e.
light can not be diffused
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13.
Based on the accompanying diagram, if the two mirrors are parallel to each other, the measure of angle x is:


a.   40o 

b.   50o
c. 60o 
d.   70o
e.   90o
[image: image4.png]Mirror

. ° )
(a) (b} ]
.

d)




14.
According to the diagram, if light beam is directed from point P to any point on the mirror, which point(s) would lie on the reflected rays?


a.
a and b

b.
c and d
c.
a only
d.
a, b, c, d


e.
none of the above
15.
The top edge of a 15-cm high mirror is located 2.2 m above the floor.  A basketball player standing in front of the mirror can just see the image of the bottom of a basketball held in the hand.  If the top of the mirror is at eye level, how far above the floor is the bottom of the basketball?


a.   0.15 m   
b.  0.30 m     
c.   0.60 m    
d.  1.9 m     
e   2.0 m



16.
Hunters A and B have their rifles pointed as shown.  They are aiming at the same deer.  However a mirror happens to be in the way.  Where is the deer?  Use proper construction techniques.  (3)



17.
Two mirrors meet at right angles as shown.  A ray of light is incident on one at an angle of 30o.  Draw the path of the reflected light ray until it leaves both mirrors.  (4)



18.
A man stands at M. Just to one side of a plane mirror HI.


a.
Can he see himself in the mirror?  ______ (1)


b. 
Can he see object D in the mirror?  ______ (1)


c.
Can he see object E in the mirror? ______ (1)


d.
Can he see object F in the mirror? ______ (1)



19. 
Find the position of the image of  0


Can a man at M see this image? ______ (1)


When a man at M moves to N. where does the image move? (2)



20.
Can A'B' be the image of AB in any plane mirror?  Explain your answer. (4)
Bonus

Mirror, mirror, on the wall ....

Are you  too short or are you too tall?

Imagine that you have been promoted to manager of the clothing department at the XYZ clothing company. The departments only mirror was broken by a bad image last week and you have the task of buying a new mirror. As matter of record, it was probably good that the old mirror was broken, because many customers complained of its not being tall enough to see themselves from head to toe. The old mirror was 1.6 meters tall. Were the customer’s complaints about the old mirror being too short justified?  Explain. (4)

Consider that fellow students in this physics class (the shortest is 5 feet 2 inches and the tallest is 6 feet 4 inches) represent a cross-section of the customers who would visit the clothing department.  Based on such height data,, what would be the smallest mirror you would have to buy?  How far from the floor would the bottom of the mirror be placed.  Explain (4)
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